REMOEFRREI)=VIRE—E

2U=y9 25RE L 5+i8 £5+VIO £ 5+EE+VIO
Lo—F91)=vy 205,000 294,500M 280,250M 360,000
ISFILDI=vY 68,000M 129,000 68,000 129,000
WTO) =) 165,000M 187,000M 187000M —
NEH)=yh 64,800M 70,400M 90,400M 129,800
DT S59)=9% 141,900 218,900M 213,400M —
HMEERV)=vY 6[a:77,400M — — 6[a:155,700M
Jr—Iuh) =y 165,000 — — 284,900M
TCBRREFREANFH 198,000 298,000M 298,000M 389,000M
mIIEBNE LHBEELL — — —
RERV)=v) 263,780M — — 362,780M
ERRERTILLY)=v) 253,000M 308,000 297,000M 341,000
KHTH)=vY 165,000 — — —
S50U=vy 81,800M — — 395,560
IH)ao)=vy 170,500 231,000H 231,000M 293,700M
tUAY) =99 ) TRAT 4 — — — 288,000M
ZWITRIF 377,300 — — —
TREV)=yY 308,000 — 418,000M —
e A0 =t LHRELL — — —
12 & L[ B 4 F E e LERELGL — — —
REEBHNEV)Z—IREBER 126,500 181,500M — —
D 4BEIEY)=v) LHBELL — — —
FOEED) =Y — — — 4[8]:70,400M
HREARAX )=y LHERELL — — —
HITERINF 107,800 — — _
HEIEV =Y 1[E: 19,800 1[H: 26,800 1[E: 29,600 1[H: 36,600
WESHAT =Y 198,000M — — 396,000M
EERT LERELGL — — —




BREME 1 —T40) =Y 1[=]:50,000H 1[=]:55,000H 1[=]: 55,000 1[=160,000H
HAEIFEII)=v) E5BELL — — —
WWNYRIEI=vY EHBRELGL — — —
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